
BIOLOGY

NEET & AIIMS

MINERAL NUTRITION

Example

1. What do you mean by hydroporics ?

Watch Video Solution

2. What are macronutrients ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zMcKpWv5tl8h
https://dl.doubtnut.com/l/_5tvHGF21jlWj


Watch Video Solution

3. What is the concentration of macronutrients found in

plants ?

Watch Video Solution

4. Name the elements which form components of

biomolecules.

Watch Video Solution

5. Which element activates alcohol dehydrogenase enzymes

?

https://dl.doubtnut.com/l/_5tvHGF21jlWj
https://dl.doubtnut.com/l/_i3GI0YkKYxIl
https://dl.doubtnut.com/l/_qMsf511pgvgZ
https://dl.doubtnut.com/l/_PFZ1x0W1TBhk


Watch Video Solution

6. Where is nitrogen required in the body of plant ?

Watch Video Solution

7. Give the ionic form in which phosphorus is absorbed by

plants.

Watch Video Solution

8. Which mineral activates ATPase and  - amylase ?

Watch Video Solution

α

https://dl.doubtnut.com/l/_PFZ1x0W1TBhk
https://dl.doubtnut.com/l/_vgvnE9jZMgqt
https://dl.doubtnut.com/l/_49TDpVlkUfjr
https://dl.doubtnut.com/l/_PFg044uCfFBE
https://dl.doubtnut.com/l/_yCQF68SxqV3P


9. Name the element which is a constituent of ring

structure of chlorophyll.

Watch Video Solution

10. How do plants obtain iron from the soil ?

Watch Video Solution

11. How is manganese involved in photosynthesis?

Watch Video Solution

12. Give one physiological role of nickel.

https://dl.doubtnut.com/l/_yCQF68SxqV3P
https://dl.doubtnut.com/l/_YCNDkXU2PlCW
https://dl.doubtnut.com/l/_Kk114A21T3x9
https://dl.doubtnut.com/l/_2Hg0dOartdMA


Watch Video Solution

13. How is boron absorted by plants ?

Watch Video Solution

14. Name two plant parts where nickel is present.

Watch Video Solution

15. What is critical concentration ?

Watch Video Solution

https://dl.doubtnut.com/l/_2Hg0dOartdMA
https://dl.doubtnut.com/l/_JAtfeal1POzW
https://dl.doubtnut.com/l/_VtRoRPveePdP
https://dl.doubtnut.com/l/_TvAOQ7f3dzlZ


16. Name two elements which are mobile in plants.

Watch Video Solution

17. What is influx ?

Watch Video Solution

18. Give one example of free -living  fixing bacteria.

Watch Video Solution

N2

19. Write the reaction involved in - fixation

Watch Video Solution

N2

https://dl.doubtnut.com/l/_sqrjWE4IIxDq
https://dl.doubtnut.com/l/_2PTfW8duYOMz
https://dl.doubtnut.com/l/_DuVM5vvsk0pa
https://dl.doubtnut.com/l/_8nwlyr2Hb9L2


Try Yourself

20. Write the two most important amides that are found in

plants

Watch Video Solution

1. Name two vegetables that have been commercially

produced by the technique of Hydroponics.

Watch Video Solution

2. The technique of hydroponics was first demonstated by

https://dl.doubtnut.com/l/_8nwlyr2Hb9L2
https://dl.doubtnut.com/l/_hAWP63ljadQo
https://dl.doubtnut.com/l/_biEqUZpcwiTL
https://dl.doubtnut.com/l/_3rjI1yXUqVpA


Watch Video Solution

3. How many micronutrients are known ? Name them

Watch Video Solution

4. What is the concentration of microutrients found in

plants ?

Watch Video Solution

5. Is sodium an essential element ?

Watch Video Solution

https://dl.doubtnut.com/l/_3rjI1yXUqVpA
https://dl.doubtnut.com/l/_9qEvL57sgCsL
https://dl.doubtnut.com/l/_9Dheg7hYNBrw
https://dl.doubtnut.com/l/_yN81NB80xCpF


6. Give two examples of beneficial elements other than

sodium.

Watch Video Solution

7. Which enzyme is activated by Molybdenum ?

Watch Video Solution

8. Which macronutrient helps in opening and closing of

stomata ?

Watch Video Solution

https://dl.doubtnut.com/l/_QbQV2vwBcCg1
https://dl.doubtnut.com/l/_AMwvI0rUH23G
https://dl.doubtnut.com/l/_4K5dFy5MbIu8


9. Which mineral ion is responsible for activating enzymes

involved in carbon fixation during photosynthesis ?

Watch Video Solution

10. Name the mineral element that is component of ATP

molecules.

Watch Video Solution

11. What is the main absobtion form of nitrogen ?

Watch Video Solution

https://dl.doubtnut.com/l/_YYlsN51A24ff
https://dl.doubtnut.com/l/_shlRgDEIqYlk
https://dl.doubtnut.com/l/_8OQNCSGYkfNz


12. Which mineral element helps in maintaining turgidy of

the cells ?

Watch Video Solution

13. How is calcium essential for cell division ?

Watch Video Solution

14. Which substance mainly occus in the middle lamella of

adjacent cells ?

Watch Video Solution

https://dl.doubtnut.com/l/_UrTgSB6nGvIt
https://dl.doubtnut.com/l/_bwFXtQORRUHY
https://dl.doubtnut.com/l/_djQs51w9k5K2


15. Potassium helps in maintaining the _______ balance in

cells.

Watch Video Solution

16. Give one physiological role of phosphorus.

Watch Video Solution

17. Where is manganese required in the body of plants ?

Watch Video Solution

https://dl.doubtnut.com/l/_FyC7czv4bYx8
https://dl.doubtnut.com/l/_hwRGmXzqe4vJ
https://dl.doubtnut.com/l/_XWYv98aN127z


18. Is iron essential for the formation of chlorophyll

pigment ?

Watch Video Solution

19. Which element is required for binding of ribosome

subunits during protein synthesis ?

Watch Video Solution

20. Name two amino acids which contain sulphur.

Watch Video Solution

https://dl.doubtnut.com/l/_sLCPTHn6bAkc
https://dl.doubtnut.com/l/_12gP1voJMr5g
https://dl.doubtnut.com/l/_kQn0xaHUv0RU


21. State one function of Mn besides activation of enzymes.

Watch Video Solution

22. State one physiological function of zinc.

Watch Video Solution

23. Which micronutrient is involved in pollen germination ?

Watch Video Solution

24. Which mineral is responsible for determining solute

concentration is cell along with  and  ?Na+ K +

https://dl.doubtnut.com/l/_DC2RfxJYPVJK
https://dl.doubtnut.com/l/_qLmiamo0t13O
https://dl.doubtnut.com/l/_N3MAchrOJBhE
https://dl.doubtnut.com/l/_0hH443AQtZ3T


Watch Video Solution

25. Why is molybdenum required by plants ?

Watch Video Solution

26. Which trace element is absorbed as monovalent anion ?

Watch Video Solution

27. Which element is a component of urease enzyme?

Watch Video Solution

https://dl.doubtnut.com/l/_0hH443AQtZ3T
https://dl.doubtnut.com/l/_Mxk0KTnDM0Ue
https://dl.doubtnut.com/l/_LhdONcs7Bo8W
https://dl.doubtnut.com/l/_DKeiYBHSXvKX


28. Give one function of boron in plants.

Watch Video Solution

29. What do you mean by necrosis ?

Watch Video Solution

30. Name the elements whose deficiency leads to delay in

flowering.

Watch Video Solution

https://dl.doubtnut.com/l/_1hPOao1Ci3Zm
https://dl.doubtnut.com/l/_H2o1zJupUemB
https://dl.doubtnut.com/l/_syfJoQ0IdRSW


31. Which mineral toxicity results in reduction in uptake of

Mg and Fe ?

Watch Video Solution

32. List two deficiency symtoms observed in plants.

Watch Video Solution

33. Give two important roles of soil for plants.

Watch Video Solution

https://dl.doubtnut.com/l/_CjX1PGOblEq0
https://dl.doubtnut.com/l/_PaP61b6iodf0
https://dl.doubtnut.com/l/_z3Y2RAATORFZ


34. State true or false : 

(i) In the initial phase of absorbation of elements the ions

are absorbed passively. 

(ii) Deficiency of manganese leads to inhibition of Ca

translocation to shoot apex.

Watch Video Solution

35. What is ammonification?

Watch Video Solution

36. Name one bacterium involved in dentrification.

Watch Video Solution

https://dl.doubtnut.com/l/_RBv8KA2mspHA
https://dl.doubtnut.com/l/_ZphfO5XOMl62
https://dl.doubtnut.com/l/_c9miYA5JLpB8


37. Which enzyme converts atmospheric nitrogen into

ammonia ?

Watch Video Solution

38. Complete the following w.r.t. microorganisms involved. 

Watch Video Solution

2NO−
2 + O2

? ?
−−→ 2NO−

3 + Energy

39. Name the pink pigment found in the root nodules of a

legume.

Watch Video Solution

https://dl.doubtnut.com/l/_c9miYA5JLpB8
https://dl.doubtnut.com/l/_AlOUdJp28kwC
https://dl.doubtnut.com/l/_11R8WNRMz003
https://dl.doubtnut.com/l/_qq6RZY4DqMmu


Exercise

40. Name one reducing agent that is a source of 

atoms during  - fixation.

Watch Video Solution

H +

N2

1. Mark the correct option w.r.t. hydroponics

A. It can avoid problem of soil borne pathogens

B. It avoids problem of weeding

C. Out of season vegetables and flowers can be

obtained

https://dl.doubtnut.com/l/_qq6RZY4DqMmu
https://dl.doubtnut.com/l/_v279iCRk1mpq
https://dl.doubtnut.com/l/_Q7PvTSlX0AMZ


D. All of these

Answer: D

Watch Video Solution

2. All given statements are corrects w.r.t criteria of

essentiality of minerals, except.

A. The element must be absolutely necessary or normal

growth and reproduction

B. The element must be replaceable by another element

C. Absence of a specific element causes deficiency in the

plant which is corrected only by adding the specific

mineral in the soil

https://dl.doubtnut.com/l/_Q7PvTSlX0AMZ
https://dl.doubtnut.com/l/_SHDYXHO7UR3j


D. The element plays a direct role in plant metabolism

Answer: B

Watch Video Solution

3. (a) Essential elements are components of energy related

compounds 

(b) Essential elements are components of structural

elements of cells. 

(c )  is an activator of alcohol dehydrogenase

A. All are correct

B. Only (a) is incorrect

C. Only (b) is incorrect

Mn2 +

https://dl.doubtnut.com/l/_SHDYXHO7UR3j
https://dl.doubtnut.com/l/_bZtrZC80jwFv


D. Only (c ) is incorrect

Answer: D

Watch Video Solution

4. Which of the following mineral element is required by

plants in the greatest amount ?

A. Phosphorus

B. Sulphur

C. Nitrogen

D. Potassium

Answer: C

https://dl.doubtnut.com/l/_bZtrZC80jwFv
https://dl.doubtnut.com/l/_XtkgE5XTon4N


Watch Video Solution

5. Which of the given is not a beneficial element ?

A. Co

B. Na

C. Si

D. Ni

Answer: D

Watch Video Solution

6. Select the incorrect match

https://dl.doubtnut.com/l/_XtkgE5XTon4N
https://dl.doubtnut.com/l/_vyoncTqozP2M
https://dl.doubtnut.com/l/_DNt49lg4NgBX


A. Mn - Photolysis of water

B. Fe - Carbohydrate and water transiocation

C. S - Constituent of coenzyme A

D. Ca. - Synthesis of middle lamella

Answer: B

Watch Video Solution

7. Lack of low level of _________ causes an inhibition of cell

division. `

A. Ca, Mg, Cu, K

B. N, K, S, Mo

C. N, K, Mg, S, Fe

https://dl.doubtnut.com/l/_DNt49lg4NgBX
https://dl.doubtnut.com/l/_aDqF451pZvIh


D. Zn, Mo, Mn

Answer: B

Watch Video Solution

8. Deficiency of which set of minerals first appear in older

leaves ?

A. N, K, Mg

B. N, Mg, Ca

C. S, B, Mg

D. Mg, Ca, Fe

Answer: A

https://dl.doubtnut.com/l/_aDqF451pZvIh
https://dl.doubtnut.com/l/_sYwguGFaq1lk


Watch Video Solution

9. Primary sympton of maganese toxicity is

A. Appearance of brown spots surrounded by chlorotic

veins

B. Loss of apical dominance

C. Little leaf disease

D. Reclamation disease

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sYwguGFaq1lk
https://dl.doubtnut.com/l/_eexd6bpjv30x


10. (a) Soil is reservoir of all mineral elements that are

essential for the essential for the proper growth and

development of plants. 

(b) Initial uptake of minerals into the symplast is slow. 

(c ) Uptake of minerals in inner space is rapid.

A. All are correct

B. Only (a) is incorrect

C. (b) & (c ) are incorrect

D. Only (c ) is incorrect

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bk17T2v3WNWl
https://dl.doubtnut.com/l/_1woautAsxXdV


11. Nitrosomonas, Nitrococcus and Nitrocystis are involved

in the process of

A. Ammonification

B. Nitrate assimilation

C. Nitrification

D. Denitrification

Answer: C

Watch Video Solution

12. In ecosystem , denitrification is carried by bacteria

A. Nitrobacter

https://dl.doubtnut.com/l/_1woautAsxXdV
https://dl.doubtnut.com/l/_c66DaySBf9HX


B. Thiobacillus

C. Nitrosomonas

D. Nitrocystis

Answer: B

Watch Video Solution

13. Decomposition of organic nitrogen of dead plant and

animals into ammonia is called :

A. Ammonification

B.  fixation

C. Nitrate assimilation

D. Denitrification

N2

https://dl.doubtnut.com/l/_c66DaySBf9HX
https://dl.doubtnut.com/l/_JAqRHmpbMCpJ


Answer: A

Watch Video Solution

14. Which of the following is a free living nitrogen fixing

bacteria ?

A. Rhizobium

B. Azotobacter

C. Nitrococcus

D. Both (1 ) & (2)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JAqRHmpbMCpJ
https://dl.doubtnut.com/l/_b8u3cTQZnNnd


15. Which of the following plants do not contain Rhizobium

in their root nodules ?

A. Alfalfa and sweet clover

B. Sweet pea and lentils

C. Alnus and Casuarina

D. Garden pea & broad bean

Answer: C

Watch Video Solution

16. Select an incorrect match

A. Rhodospirillum - Photosynthetic nitrogen fixer

https://dl.doubtnut.com/l/_QbxCt4Rda2Qp
https://dl.doubtnut.com/l/_kyfYBapMgFyJ


B. Bacillus - Symbiotic  fixer

C. Alnus - Frankia

D. Azotobacter - Free living, aerobic  fixer

Answer: B

Watch Video Solution

N2

N2

17. Rhizobium and Frankia

A. Are free living in soil, but as symbionts for

atmospheric nitrogen fixation

B. Produce nodules on the roots of leguminous plants

C. Are strictly anaerobic

https://dl.doubtnut.com/l/_kyfYBapMgFyJ
https://dl.doubtnut.com/l/_P5Mp0kV6TEKM


D. More than one option is correct

Answer: A

Watch Video Solution

18. Find a correct setm of requirements to fix a molecule of

atmospheric nitrogen ( )

A. 

B. 

C. 

D. 

Answer: C

N2

8e− , 8H + , 8ATP

16e− , 16H + , 16ATP

8e− , 8H + , 16ATP

16e− , 16H + , 8ATP

https://dl.doubtnut.com/l/_P5Mp0kV6TEKM
https://dl.doubtnut.com/l/_aWEDnWAdcitv


Watch Video Solution

19. Enzyme nitrogenase is

A. Cu - Fe protein

B. Found in prokaryotes only

C. An  requiring enzyme

D. Essectial to convert  to 

Answer: B

Watch Video Solution

O2

NH3 N2

20. All given statements are correct w.r.t fate of ammonia,

except

https://dl.doubtnut.com/l/_aWEDnWAdcitv
https://dl.doubtnut.com/l/_S2sOIR4UmmTT
https://dl.doubtnut.com/l/_VoFKZ7w1Qk7i


Assignment Section A

A. Glutamine and asparagine are two most important

amides in plants.

B.  - Ketoglutaric acid provides carbon skeleton for the

process and reductive amination process

C. Amides and transported through sieve tubes

D. Glutamic acid is the main amino acid that provides

 group during transamination process.

Answer: C

Watch Video Solution

α

NH2

https://dl.doubtnut.com/l/_VoFKZ7w1Qk7i


1. Hydroponincs refers to growing plants in

A. Macronutrients culture medium

B. Water

C. Solution of mineral nutrients

D. Soil

Answer: C

Watch Video Solution

2. Select the incorrect statement w.r.t criteria of essentiality

of minerals

https://dl.doubtnut.com/l/_QVHyNZG6W41c
https://dl.doubtnut.com/l/_uljjTPe4XEON


A. Element must be necessary for normal growth and

reproduction

B. Element must be rplaceable by another element

C. Disorders caused by the absence/ deficiency of an

element can be corrected only by adding that specific

element.

D. Element must be directly involved in plant

metabolism

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_uljjTPe4XEON


3. How many elements have been found to be essential for

plants ?

A. 8

B. 60

C. 17

D. 9

Answer: C

Watch Video Solution

4. The concentration of elements such as carbon and

nitrogen in plants is

https://dl.doubtnut.com/l/_mSdU7YHeb9Nj
https://dl.doubtnut.com/l/_vA1JsvhdaxcF


A. Above 10 millimole  of dry matter

B. Less than 10 millimole  of dry matter

C. Equal to 10 millimole  of dry matter.

D. Between 1 - 10 millimole  of dry matter.

Answer: A

Watch Video Solution

kg− 1

kg− 1

kg− 1

g− 1

5. Which of the following is not essential for all plants ?

A. Mg

B. Co

C. Mo

https://dl.doubtnut.com/l/_vA1JsvhdaxcF
https://dl.doubtnut.com/l/_F3dwTGwVb17z


D. Ni

Answer: B

Watch Video Solution

6. A macronutrient is

A. Manganese

B. Zinc

C. Iron

D. Magnesium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F3dwTGwVb17z
https://dl.doubtnut.com/l/_RfaiIisnozF3


7. Select the odd one out from the following w.r.t

macronutrient.

A. Nitrogen

B. Phosphorus

C. Iron

D. Sulphur

Answer: C

Watch Video Solution

8. Which of the following is a micronutrient ?

https://dl.doubtnut.com/l/_RfaiIisnozF3
https://dl.doubtnut.com/l/_85s9IaBe4ZyZ
https://dl.doubtnut.com/l/_dq8m63P0Y088


A. Ca

B. Mg

C. K

D. Ni

Answer: D

Watch Video Solution

9. Which of the following is not a beneficial element ?

A. Na

B. Co

C. K

https://dl.doubtnut.com/l/_dq8m63P0Y088
https://dl.doubtnut.com/l/_oZ7CWPcSPAjB


D. Si

Answer: C

Watch Video Solution

10. Select incorrect statement w.r.t micronutrients.

A. Become toxic in excess.

B. Involved in activation of enzyme

C. Involved in building of protoplastic constituents

D. Concentration is less then 10 millimole  of dry

matter.

Answer: C

kg− 1

https://dl.doubtnut.com/l/_oZ7CWPcSPAjB
https://dl.doubtnut.com/l/_L0sfXZSYY10x


Watch Video Solution

11. Plants require minor elements in small quantities, their

major role is to act as

A. Constituent of hormones

B. Constituent of amino acids

C. Constituent of chlorophyll

D. Cofactor of enzymes

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_L0sfXZSYY10x
https://dl.doubtnut.com/l/_GPLoesiji3GR


12. Select the incorrect match .

A. Mn - Photolysis of water

B. Ca - Synthesis of middle lamella

C. P - Component of ATP

D. Zn - Constituent of coenzyme A

Answer: D

Watch Video Solution

13. An element present in middle lamella is

A. Zn

B. Cu

https://dl.doubtnut.com/l/_ePja5Q5PbQP3
https://dl.doubtnut.com/l/_Z9J84LqKPW4A


C. Ca

D. S

Answer: C

Watch Video Solution

14. An element which helps in joining the subunits of

ribosomes is

A. Ethylene

B. Magnesium

C. Ferredoxin

D. Auxin

https://dl.doubtnut.com/l/_Z9J84LqKPW4A
https://dl.doubtnut.com/l/_meLTounJrAcB


Answer: B

Watch Video Solution

15. Plants which are deficient in zinc will show reduction in

the biosynthesis of

A. Ethylene

B. Coenzyme A

C. Ferredoxin

D. Auxin

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_meLTounJrAcB
https://dl.doubtnut.com/l/_KXijQcXpmrEb


16. Which of the following groups of elements are mobile?

A. N, P, K

B. Ca, Mg, S

C. Ca, S, Fe

D. Ca, N, P

Answer: A

Watch Video Solution

17. The anion - cation balance in plant cells is due to

essential element like

A. Potassium

https://dl.doubtnut.com/l/_LLOiISNZtawQ
https://dl.doubtnut.com/l/_2FCmH0LJqivW


B. Calcium

C. Sodium

D. Iron

Answer: A

Watch Video Solution

18. Which enzyme is activated by zinc ?

A. Nitrate reductase

B. Nitrogenase

C. Alcohol dahydrogenase

D. Catalase

https://dl.doubtnut.com/l/_2FCmH0LJqivW
https://dl.doubtnut.com/l/_rn6l2i7ipbHu


Answer: C

Watch Video Solution

19. A macronutrient which is component of all organic

compounds but is not obtained from soil is

A. Fe

B. P

C. Mg

D. C

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rn6l2i7ipbHu
https://dl.doubtnut.com/l/_PgXmG9WvkiPr


20. Component of nitrogenase and nitrate reduction is

A. Mo

B. Mn

C. Co

D. N

Answer: A

Watch Video Solution

21. An immobile element present in plant tissue is

A. N

B. P

https://dl.doubtnut.com/l/_KKa01dLkxS0g
https://dl.doubtnut.com/l/_U8wlnsXT2yQz


C. Ca

D. K

Answer: C

Watch Video Solution

22. The essential element that activates enzymes rubisco

and pepco, also

A. Needed in the activity of pyruvic and decarboxyiase

B. Helps in carbohydrate transiocation

C. Essential for water splitting reactions

D. Forms constituents of phytol tail fo chlorophyll

https://dl.doubtnut.com/l/_U8wlnsXT2yQz
https://dl.doubtnut.com/l/_f1VYsB8Tn5od


Answer: A

Watch Video Solution

23. All are the elements whose deficiency symptoms first

appear in the older tissues, except

A. Nitrogen

B. Calcium

C. Potassium

D. Magnesium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_f1VYsB8Tn5od
https://dl.doubtnut.com/l/_gyhfRHQMBs93


24. Amino acids like methionine and cysteince contain

A. Zn

B. S

C. B

D. Cl

Answer: B

Watch Video Solution

25. Which of the following is not a physiological role of

potassium ?

A. Maintain anion - cation balance in cells

https://dl.doubtnut.com/l/_BsZFtrAMXIBw
https://dl.doubtnut.com/l/_6A5h5FfV58V4


B. Maintain turgidity of cells

C. Help in opening and closing of stromata

D. Synthesize auxins

Answer: D

Watch Video Solution

26. An element involved in metabolism of urea is

A. Na

B. Si

C. Ni

D. Zn

https://dl.doubtnut.com/l/_6A5h5FfV58V4
https://dl.doubtnut.com/l/_6BsJVjxbeehN


Answer: C

Watch Video Solution

27. Deficiency symptoms of an element tend to appear first

in young leaves. It indicates that the element is relatively

immobile. Which one of the following elemental deficiency

would show such symptoms?

A. Ca

B. Mg

C. N

D. K

Answer: A

https://dl.doubtnut.com/l/_6BsJVjxbeehN
https://dl.doubtnut.com/l/_EdurCU0RtD8Q


Watch Video Solution

28. Plants absorb zinc as

A. Zn

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnSO4

Zn2 +

Zn(NO3)2

29. Mineral present in cytochrome is commonly

https://dl.doubtnut.com/l/_EdurCU0RtD8Q
https://dl.doubtnut.com/l/_2A542JOmbCYn
https://dl.doubtnut.com/l/_DeQgh8WAEtCg


A. Fe

B. Mn

C. Mo

D. Mg

Answer: A

Watch Video Solution

30. An element essential for nitrogen metabolism is

A. K

B. Mo

C. Mg

https://dl.doubtnut.com/l/_DeQgh8WAEtCg
https://dl.doubtnut.com/l/_UpJAvIT4V2sO


D. Mn

Answer: B

Watch Video Solution

31. Boron takes part in

A. Photosynthesis

B. Activation of enzymes involved in respiration

C. Transport of carbohydrates through phloem

D. Nitrogen metabolism

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UpJAvIT4V2sO
https://dl.doubtnut.com/l/_KIDRcSN0n2fm


32. Mark the correct sequence of steps for the development

of root nodules in legumes

A. Formation of infection thread

B. Division of cortical and pericyclic cells.

C. Curing of root hairs.

D. Leghaemoglobin synthesis.

Answer: D

Watch Video Solution

33. Which group of three micronutrient elements is

required for both photosynthesis and mitochondrial

https://dl.doubtnut.com/l/_KIDRcSN0n2fm
https://dl.doubtnut.com/l/_PSTEcTySyuvW
https://dl.doubtnut.com/l/_S0DZUceZCVDb


electron transport ?

A. Ca, K, Na

B. Cu, Fe

C. Co, Ni

D. N, P, K

Answer: B

Watch Video Solution

34. Match the following and choose the correct

combination from the options given. 

https://dl.doubtnut.com/l/_S0DZUceZCVDb
https://dl.doubtnut.com/l/_G3AKZjba76eo


A. a (iii), b(iv), c(ii), d(i), e(v)

B. a(iii), b(v), c(i), d(ii), e(iv)

C. a(i), b(ii), c(iii), d(iv), e (v)

D. a(ii), b(iii), c (v), d (i), e (iv)

Answer: B

Watch Video Solution

Column I Column II

a. Potassium (i) Germination of pollen grains

b. Molybdenum (ii) Involved  in synthesis of auxin

c. Boron (iii) Involved in protein synthesis

d. Zinc (iv) Constituent of  ferredoxin

e. Sulphur (v) Component of  nitrate reductase

35. Death of leaf tissues in plants is caused by deficiency of

https://dl.doubtnut.com/l/_G3AKZjba76eo
https://dl.doubtnut.com/l/_WKRIPDHWL474


A. Ca and Mg

B. Zn and S

C. Mo and S

D. Mo and C

Answer: A

Watch Video Solution

36. Deficiency of which group of elements can cacuse

inhibition of cell division in plants ?

A. N, K, S

B. Mg, Cu, P

C. Ca, Mg, Cu

https://dl.doubtnut.com/l/_WKRIPDHWL474
https://dl.doubtnut.com/l/_rvPCaQsJoipq


D. N, K, Ca

Answer: A

Watch Video Solution

37. A prokaryote responsible for converting ammonia to

nitrites is

A. Nitosomonas

B. Nitrobacter

C. Nitrocystis

D. Rhizobium

Answer: A

https://dl.doubtnut.com/l/_rvPCaQsJoipq
https://dl.doubtnut.com/l/_Ws4Cii1t7j1D


Watch Video Solution

38. Conversion of  is called

A. Ammonification

B. Nitrification

C. Denitification

D. Biological  - fixation

Answer: B

Watch Video Solution

NH3 → NO−
2 → NO−

3

N2

39. The free living , aerobic and saprotrophic  - fixing

microbe is

N2

https://dl.doubtnut.com/l/_Ws4Cii1t7j1D
https://dl.doubtnut.com/l/_Wm6PINYYLWiH
https://dl.doubtnut.com/l/_Me9HhS1QPLU1


A. Azotobacter

B. Rhodospirillum

C. Rhizobium

D. Anabaena

Answer: A

Watch Video Solution

40. Reaction carried out by  fixing microbes include 


 …(i) 


 ….(ii) Which of the following

statements about these equations is not true?

A. Step I is carried out by Nitrosomonas or Nitrococcus

N2

2NH3 + 3O2 → 2NO−
2 + 2H + + 2H2O

2NO−
2 + O2 → 2NO−

3

https://dl.doubtnut.com/l/_Me9HhS1QPLU1
https://dl.doubtnut.com/l/_SIL3rcPoyFh7


B. Step II is carried out by Nitrobacter

C. Both steps I and II can be called nitrification

D. Bacteria carrying out these steps are usually

photoautotrophs

Answer: D

Watch Video Solution

41. How many ATP are required for the formation of one

molecule of  by the nitrogenase enzyme ?

A. Six

B. Eight

C. Twelv

NH3

https://dl.doubtnut.com/l/_SIL3rcPoyFh7
https://dl.doubtnut.com/l/_ZrDn69yBNyyC


D. Sixteen

Answer: B

Watch Video Solution

42. Non - symbiotic nitrogen fixing prokaryote is

A. Frankia

B. Azotobacter

C. Acetobacter

D. Rhizobium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZrDn69yBNyyC
https://dl.doubtnut.com/l/_yfIO6mdHEFNe


43. Amides are transported to the other parts of plant

through

A. Phloem

B. Xylem

C. Parenchyma

D. Cyclosis and active transport

Answer: B

Watch Video Solution

44. Enzyme nitrogenase is

https://dl.doubtnut.com/l/_yfIO6mdHEFNe
https://dl.doubtnut.com/l/_7pyyUqSnRoi3
https://dl.doubtnut.com/l/_D3QMYX0ljlTU


A. A Cu - Fe protein

B. Found in prokaryotes only

C. An  requiring enzyme

D. Essential to convert  to 

Answer: B

Watch Video Solution

O2

NO−
2 NO−

3

45. Function of leghaemoglobin during  - fixation is

A. To convert  to 

B. To convert  to 

C. To supply  for nitrogenase activity

N2

N2 NH3

NH3 N2

O2

https://dl.doubtnut.com/l/_D3QMYX0ljlTU
https://dl.doubtnut.com/l/_1EHMGMxLF8jY


D. To protect nitrogenase from oxygen

Answer: D

Watch Video Solution

46. The given equation refers to 

A. Ammonification

B. Nitrification

C. Denitification

D. Nitrogen fixation

Answer: D

N2 + 8e− + 16ATP → 2NH3 + H2 + 16ADP + 16Pi

https://dl.doubtnut.com/l/_1EHMGMxLF8jY
https://dl.doubtnut.com/l/_0DTbNwnkVSWb


Watch Video Solution

47. Pigment leghaeoglobin is present in the roots of

A. Maize

B. Rice

C. Alfalfa

D. Potato

Answer: C

Watch Video Solution

48. Select the incorrect statement with respect to the

biological nitrogen fixation by Rhizobium

https://dl.doubtnut.com/l/_0DTbNwnkVSWb
https://dl.doubtnut.com/l/_DDU4Gpc0kPcF
https://dl.doubtnut.com/l/_BxoKkERcMmso


A. Nitrogenase may require oxygen for its functioning

B. Nitrogenase is Mo - Fe protein

C. Leg - haemoglobin is a pink - coloured pigment

D. Nitrogenase helps to convert  gas into two

molecules of ammonia

Answer: A

Watch Video Solution

N2

49. The function of amides is all, except

A. Part of functional proteins

B. Structural part of plant proteins

https://dl.doubtnut.com/l/_BxoKkERcMmso
https://dl.doubtnut.com/l/_W6cToNdqDahD


C. Storage of excess nitrogen

D. Transport of nitrogen

Answer: A

Watch Video Solution

50. Which of the following is an amide involved in nitrogen

metabolism by plants ?

A. Glutamate

B. Cysteine

C. Serine

D. Asparagine

https://dl.doubtnut.com/l/_W6cToNdqDahD
https://dl.doubtnut.com/l/_IarmnXkHUaLB


Assignment Section B

Answer: D

Watch Video Solution

1. Growing plants in a nutrient solution

A. Involves use of chelating agent Na - EDTA to keep iron

unavailable to plants

B. Was first demonstrated by Arnon and Hoagland

C. Also allows growth of algae in containers

D. Requires prevention of reaction of light with roots

Answer: D

https://dl.doubtnut.com/l/_IarmnXkHUaLB
https://dl.doubtnut.com/l/_nUUenmDFYAi0


Watch Video Solution

2. Which is not a criteria for essentiality of a mineral ?

A. Direct role in metabolism

B. Requirement is specific

C. Deficiency causes hunger signs

D. Dispensible for growth

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nUUenmDFYAi0
https://dl.doubtnut.com/l/_VYsQJjkjputg


3. Which is not a true statement regarding macronutrients

?

A. Forms plant structure

B. Usually become toxic in excess

C. No role in electron transfer

D. Develop osmotic potential

Answer: B

Watch Video Solution

4. Choose correct statement regarding micronutrients

A. Become toxic in excess.

https://dl.doubtnut.com/l/_HJ2CYX61fQSI
https://dl.doubtnut.com/l/_RmJff1oELysD


B. Little role in protoplasmic structure

C. No role in enzyme activation

D. Both (1) & (2)

Answer: D

Watch Video Solution

5. The deficiency of which element causes the deficiency of

nitrogen?

A. Mo

B. K

C. Mn

D. S

https://dl.doubtnut.com/l/_RmJff1oELysD
https://dl.doubtnut.com/l/_1ClGuqfsgNsB


Answer: A

Watch Video Solution

6. Minerals associated with redox reaction are

A. N, Cu

B. Fe, Cu

C. Fe, K

D. Mn, Mo

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1ClGuqfsgNsB
https://dl.doubtnut.com/l/_iVWZRdfD352j


7. Minerals which maintain cation-anion balance in cells are

A. Cl, K

B. Fe, Cu

C. K, P

D. Ca, Fe

Answer: A

Watch Video Solution

8. Which of the following groups of elements are mobile ?

A. Fe, Ca, B

B. Cl, K

https://dl.doubtnut.com/l/_P2Q2Tk7Vc7F1
https://dl.doubtnut.com/l/_TnHqlG98PYBe


C. B, K, N

D. Ca, Mg, P

Answer: B

Watch Video Solution

9. Which of the following elements are required for

chlorophyll synthesis?

A. Fe and Mg

B. Mo and Ca

C. Cu and Ca

D. Ca and K

https://dl.doubtnut.com/l/_TnHqlG98PYBe
https://dl.doubtnut.com/l/_gSCOOVLz1le0


Answer: A

Watch Video Solution

10. The core metal of chlorophyll is 

Or 

Which element is left when chlorophyll is burnt

A. Magnesium

B. Manganese

C. Iron

D. Sulphur

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gSCOOVLz1le0
https://dl.doubtnut.com/l/_9BTeldZwYr0V


11. Which is not a trace element ?

A. Mn

B. Cu

C. Mo

D. K

Answer: D

Watch Video Solution

12. Find the odd one (w.t.r critical element).

A. Nitrogen

https://dl.doubtnut.com/l/_9BTeldZwYr0V
https://dl.doubtnut.com/l/_KHk2RADq1bfj
https://dl.doubtnut.com/l/_dsjkYh3NIUM5


B. Potassium

C. Nickel

D. Phosphorus

Answer: C

Watch Video Solution

13. Sillicon, Cobalt, Sodium and Selenium are

A. Essential minerals

B. Beneficial elements

C. Macronutrients

D. Trace elements

https://dl.doubtnut.com/l/_dsjkYh3NIUM5
https://dl.doubtnut.com/l/_m7j3FEeXKMf8


Answer: B

Watch Video Solution

14. Tryptophan synthesis, carboxylase activity and little lea

of plants are all associated with

A. Zn

B. B

C. Ca

D. Cu

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_m7j3FEeXKMf8
https://dl.doubtnut.com/l/_qvjsHpoptltE


15. Mineral which is part of CoA, Fd, thiamine and lipoic acid

is :

A. Mn

B. Fe

C. S

D. Ca

Answer: C

Watch Video Solution

16. Huner signs in plants are

A. Symptoms due to lesser water absorption in plants

https://dl.doubtnut.com/l/_mBnvCeTJoCxf
https://dl.doubtnut.com/l/_3FB40xCLkirS


B. Symptoms due to poor photosynthesis in plants

C. Deficiency symptoms of mineral nutrients

D. Symptoms due to excess water absorption in plants.

Answer: C

Watch Video Solution

17. (a) Moderate decrease of increase on micronutrients

causes deficiency and toxicaity symptoms respectively. 

(b) Excess of manganese causes toxicity of iron calcium and

molybdenum. 

(c ) A macronutrients said to be toxic when present below a

critical concentration.

https://dl.doubtnut.com/l/_3FB40xCLkirS
https://dl.doubtnut.com/l/_SsI2cdFRrbfw


A. Only (a) is correct

B. Only (b) is correct

C. (b) & (c ) are correct

D. (a) & (c ) are correct

Answer: A

Watch Video Solution

18. Movement of electrolytes through the roots is generally

A. Against electrochemical gradient and require energy

B. Along electro chemical gradient and does not require

energy

https://dl.doubtnut.com/l/_SsI2cdFRrbfw
https://dl.doubtnut.com/l/_WJpPmzMMGPyB


C. A passive process

D. Dependent on aquaporins

Answer: A

Watch Video Solution

19. Initial phase of ion uptake

A. Is passive and apoplastic

B. Occurs through symplast

C. Is active process

D. More than one option is correct

Answer: A

https://dl.doubtnut.com/l/_WJpPmzMMGPyB
https://dl.doubtnut.com/l/_t1xVSlShjOCd


Watch Video Solution

20. The translocation of solute is

A. Equal to the rate of translocation of water

B. Dependent on transpiration pull

C. Through xylem vessel

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_t1xVSlShjOCd
https://dl.doubtnut.com/l/_GrTkkQAnsTFy


21. The process of conversion of

 is called ________

and is done by

A. Nitrification, Nitrosomonas

B. Denitrification, Pseudomonas

C. Nitrate assimilation, Rhizobium

D. Ammonification, Bacillus

Answer: B

Watch Video Solution

2NO−
3 → 2NO−

3 → 2NO → N2O → N2

22. Process of nitrification and nitrate assimilation are

https://dl.doubtnut.com/l/_OKS7I5fKO26A
https://dl.doubtnut.com/l/_2QUlHdvh8l3R


A. Oxidation and reduction respectively

B. Reduction and oxidation respectively

C. Both and oxidation

D. Both are reduction

Answer: A

Watch Video Solution

23. Conversion of  is called

___________ and is catalysed by

A. Nitrate assimilation, nitrate and nitrite reductase

B. Nitrification, nitrate and nitrite reductase

C. Ammonification, glutarmate dehydrogenase

NO3 → NO2 → NH4

https://dl.doubtnut.com/l/_2QUlHdvh8l3R
https://dl.doubtnut.com/l/_N3TRw1ViR81q


D. Denitrification, transaminase

Answer: A

Watch Video Solution

24. Most common form of nitrogen uptake and usable

forms for plants are respectively.

A. 

B. 

C. 

D. 

Answer: C

NO−
3 , NO−

2

NH3, NO−
3

NO−
3 , NH3

NH3, NO−
2

https://dl.doubtnut.com/l/_N3TRw1ViR81q
https://dl.doubtnut.com/l/_ZVmYWukdCtSE


Watch Video Solution

25. Which of the following is/are diazotrophs ?

A. Rhizobium and Azotobacter

B. Frankia and Nostoc

C. Anabaena and Nostoc

D. All of these

Answer: D

Watch Video Solution

26. Which is not true for nitrogenase enzyme in root

nodules in legumes?

https://dl.doubtnut.com/l/_ZVmYWukdCtSE
https://dl.doubtnut.com/l/_x20v7hSvP5lC
https://dl.doubtnut.com/l/_wSvpxhjrzt0w


A. Synthesized by nif genes of Rhizobium

B. Site of reduction of  into 

C. It is a Mo - Fe protein

D. Resistant to  conc.

Answer: D

Watch Video Solution

N2 NH3

O2

27. Leghemoglobin is found in which one of the following

organisms ?

A. Anthoceros

B. Aulosira

C. Nostoc

https://dl.doubtnut.com/l/_wSvpxhjrzt0w
https://dl.doubtnut.com/l/_3qwmcdXPF5OD


D. Groundnut

Answer: D

Watch Video Solution

28. How many electron and protons are required to fix a

dinitrogen ?

A. 32 each

B. 8 each

C. 16 each

D. 4 each

Answer: B

https://dl.doubtnut.com/l/_3qwmcdXPF5OD
https://dl.doubtnut.com/l/_umo6362Hq4mu


Watch Video Solution

29. Cycas and Azolla plants are associated with

A. Bacillus

B. Klebsiella

C. Anabaena

D. Rhizobium

Answer: C

Watch Video Solution

30. Select the correct statements from the given 

(a) Nitrogenae is heterodimeric protein. 

https://dl.doubtnut.com/l/_umo6362Hq4mu
https://dl.doubtnut.com/l/_1YwRuWDDqZnM
https://dl.doubtnut.com/l/_e8Mgp26v8orP


(b) Root hairs curl by action of nitrogenase and plant not

factors. 

(c ) During sumbiotic  fixation ATP is provided by

legumes plant.

A. (b) & (c )

B. (a) & (c )

C. Only ( c )

D. (a) & (b )

Answer: B

Watch Video Solution

N2

https://dl.doubtnut.com/l/_e8Mgp26v8orP


31. Nitrogenase enzyme found in root nodules in legumes

contains

A. Mo, Mn, S

B. Co, Mo, Ca

C. Mo, Fe , S

D. Mo, B, S

Answer: C

Watch Video Solution

32. The amino acid which plays a central role in nitrogen

metabolism is/are

https://dl.doubtnut.com/l/_s4PhXi3c1Ppq
https://dl.doubtnut.com/l/_ZBe9mrrOs85m


A. Glutamic acid

B.  - Ketoglutaric acid

C. Aspartic acid

D. Double aminated keto acids.

Answer: A

Watch Video Solution

α

33. Transported and storage form of nitrogen in plants are

A. Amides

B. Polypeptides

C. Amino acids

https://dl.doubtnut.com/l/_ZBe9mrrOs85m
https://dl.doubtnut.com/l/_g4tqKaZSJtFy


D.  - ketoglutaric acids

Answer: A

Watch Video Solution

α

34. Ureides are preferred forms for storage and transport

of nitrogen in

A. Triticum aestivum

B. Solanum nigrum

C. Glycine max

D. Allium cepa

Answer: C

https://dl.doubtnut.com/l/_g4tqKaZSJtFy
https://dl.doubtnut.com/l/_mOB1zsC7iH35


Assignment Section C

Watch Video Solution

35. Essential elements are

A. Only micronutrients

B. Only macronutrients

C. C, H, O & N only

D. Both macro and micronutrients

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mOB1zsC7iH35
https://dl.doubtnut.com/l/_CMmbAzjYbROD


1. Which is essential for the growth of root tip ?

A. Zn

B. Fe

C. Ca

D. Mn

Answer: C

Watch Video Solution

2. In which of the following, all the three are

macronutrients

A. Nitrogen, sulphur, phosphorus

https://dl.doubtnut.com/l/_rENWPdOqvWS7
https://dl.doubtnut.com/l/_KyEXpkHCHJVJ


B. Boron, zinc, manganese

C. Iron, copper, molybdenum

D. Molybdenum, magnesium, maganese

Answer: A

Watch Video Solution

3. During biological nitrogen fixation, inactivation of

nitrogenase by oxygen poisoning is prevented by

A. Cytochrome

B. Leghaemoglobin

C. Xanthophyll

D. Carotene

https://dl.doubtnut.com/l/_KyEXpkHCHJVJ
https://dl.doubtnut.com/l/_ioA5kuGSAYCu


Answer: B

Watch Video Solution

4. Minerals known to be required in large amounts for

plant growth include

A. Magnesium, sulphur, iron, zinc

B. Phosphorus, potassium, manganese, copper

C. Calcium, magnesium, manganese, copper

D. Potassium, phosphorus, selenium, boron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ioA5kuGSAYCu
https://dl.doubtnut.com/l/_X6OGkRQslhgD


5. Deficiency symptoms of nitrogen and potassium are

visible first in

A. Senescent leaves

B. Young leaves

C. Roots

D. Buds

Answer: A

Watch Video Solution

6. The first stable product of fixation of atmospheric

nitrogen in leguminous plants is

https://dl.doubtnut.com/l/_6F24L7vOHgx8
https://dl.doubtnut.com/l/_tzmWzQRhavS9


A. Ammonia

B. 

C. Glutamate

D. 

Answer: A

Watch Video Solution

NO−
3

NO−
2

7. Which one of the following is wrong statement ?

A. Phosphorus is a constituent of cell membranes,

certain nucleic acids and all proteins.

B. Nitrosomonas and Nitrobacter are chemoautotrophs

https://dl.doubtnut.com/l/_tzmWzQRhavS9
https://dl.doubtnut.com/l/_oPIJEhzU07E8


C. Anabaena and Nostoc are capable of fixing nitrogen

in free - living state also.

D. Root nodule forming nitrogen fixers live as aerobes

under free - living conditions.

Answer: A

Watch Video Solution

8. Which one of the following is correctly matched ?

A. Potassium - Readily mobilization

B. Bakane of rice seedings - F.Skoog

C. Passive transport of nutrients - ATP

https://dl.doubtnut.com/l/_oPIJEhzU07E8
https://dl.doubtnut.com/l/_kuvIBimzXyB1


D. Apoplast - Plasmodesmata

Answer: A

Watch Video Solution

9. For its action, nitrogenase requires

A. High input of energy

B. Light

C. 

D. Super oxygen radicals

Answer: A

Watch Video Solution

Mn2 +

https://dl.doubtnut.com/l/_kuvIBimzXyB1
https://dl.doubtnut.com/l/_fEa9WwR7AjvO


10. Best defined function of manganese in green plants is

A. Nitrogen fixation

B. Water absorbtion

C. Photolysis of water

D. Calvin cycle

Answer: C

Watch Video Solution

11. Nitrifying bacteria:-

A. Reduce nitrates to free nitrogen

https://dl.doubtnut.com/l/_fEa9WwR7AjvO
https://dl.doubtnut.com/l/_9DNO794XvG84
https://dl.doubtnut.com/l/_AVZFDUFS8zay


B. Oxidize ammonia to nitrates

C. Convert free nitrogen to nitrogen compounds

D. Convert proteins into ammonia

Answer: B

Watch Video Solution

12. The function of leghaemoglobin in the root nodules of

legumes is

A. Expression of nif gene

B. Inhibition of the nitrogenase activity

C. Oxygen removal

D. Nodule differentiation

https://dl.doubtnut.com/l/_AVZFDUFS8zay
https://dl.doubtnut.com/l/_Ip3jmWemAuSw


Answer: C

Watch Video Solution

13. Which one of the following elements (miconutrients) in

plants is not remobilised ?

A. Sulphur

B. Phosphorus

C. Calcium

D. Potassium

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Ip3jmWemAuSw
https://dl.doubtnut.com/l/_wjIv7YkaVD5J


14. A prokaryotic autotrophic nitrogen fixing symbiont is

found in

A. Pisum

B. Alnus

C. Cycas

D. Cicer

Answer: C

Watch Video Solution

15. which one of the following helps in asbsorption of

phosphorus from soil by plants?

https://dl.doubtnut.com/l/_kVtQ8CD22sWh
https://dl.doubtnut.com/l/_8fwa5P4YML2A


A. Anabaena

B. Glomus

C. Rhizobium

D. Frankia

Answer: B

Watch Video Solution

16. Which one of the following ions is essential for

photolysis of water?

A. Copper

B. Boron

C. Manganese

https://dl.doubtnut.com/l/_8fwa5P4YML2A
https://dl.doubtnut.com/l/_aqtqfG12j25x


D. Zinc

Answer: C

Watch Video Solution

17. Which one of the following is not an essential mineral

element for plants while the remaining three are

A. Cadmium

B. Phosphorus

C. Iron

D. Maganese

Answer: A

https://dl.doubtnut.com/l/_aqtqfG12j25x
https://dl.doubtnut.com/l/_Et3fRqd7jmsw


Watch Video Solution

18. Leguminous plants are able to fix atmospheric nitrogen

through the process of symbiotic nitrogen fixation. Which

one of the following statements is not correct for this

process of nitrogen fixation ?

A. Leghaemoglobin scavenges oxygen and is pinkish in

colour

B. Nodules act as sites for nitrogen fixation

C. The enzyme ntirogenase catalyses the conversion of

atmospheric  to 

D. Nitrogenase is insensitive to oxygen

Answer: D

N2 NH3

https://dl.doubtnut.com/l/_Et3fRqd7jmsw
https://dl.doubtnut.com/l/_7U7w7QoorrtO


Watch Video Solution

19. An element playing important role in nitrogen fixation is

A. Molybdenum

B. Copper

C. Manganese

D. Zinc

Answer: A

Watch Video Solution

20. The common nitrogen-fixer in paddy fields is

https://dl.doubtnut.com/l/_7U7w7QoorrtO
https://dl.doubtnut.com/l/_0RJtw5eZWzMl
https://dl.doubtnut.com/l/_xn17NrFhjOM2


A. Frankia

B. Rhizobium

C. Azospirillum

D. Oscillatoria

Answer: C

Watch Video Solution

21. Which one of the following is not a micronutrient

A. Boron

B. Molybdenum

C. Magnesium

https://dl.doubtnut.com/l/_xn17NrFhjOM2
https://dl.doubtnut.com/l/_aqhXrYFtzdHP


D. Zinc

Answer: C

Watch Video Solution

22. One of the free-living, anaerobic nitrogen-fixer is 

Or 

which of the following is a photoautotrophic bacterium

A. Azotobacter

B. Beijernickia

C. Rhodospirillum

D. Rhizobium

https://dl.doubtnut.com/l/_aqhXrYFtzdHP
https://dl.doubtnut.com/l/_Qu06ZC2hfsgU


Answer: C

Watch Video Solution

23. Manganes is required in

A. Plant cell wall formation ____

B. Photolysis of water during photosynthesis

C. Chlorophyll synthesis

D. Nucleic acid synthesis

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Qu06ZC2hfsgU
https://dl.doubtnut.com/l/_xRGQtjHivzVC


24. Nitrogen fixation in root nodules of Alnus is brought

about by

A. Azorhizobium

B. Bradyhizobium

C. Clostridium

D. Frankia

Answer: D

Watch Video Solution

25. Which of the following is a flowering plant with nidules

containing filamentous nitrogen-fixing microorganism

https://dl.doubtnut.com/l/_L9e2QOL6Pz5z
https://dl.doubtnut.com/l/_Mu4JvCY5tQA6


A. Cicer arietinum

B. Casuarina equisetifolia

C. Crotalaria juncea

D. Cycas revolute

Answer: B

Watch Video Solution

26. Which one of the following elements is not an essential

micronutrient for plant growth?

A. Ca

B. Mn

C. Zn

https://dl.doubtnut.com/l/_Mu4JvCY5tQA6
https://dl.doubtnut.com/l/_2ggD0gtConE0


D. Cu

Answer: A

Watch Video Solution

27. Which one of the following statements is correct ?

A. At present it is not possible to grow maize without

chemical fertilizers.

B. Extensive use of chemical fertilizers may lead to

eutrophication of nearby water bodies.

C. Both Azotobacter and Rhizobium fix atmospheric

nitrogen in root nodules of plants

https://dl.doubtnut.com/l/_2ggD0gtConE0
https://dl.doubtnut.com/l/_n5jHOjubvYCg


D. Cyanobacteria such as Anabaena and Nostoc are

important mobilizers of phosphates and potassium

for plant nutrition in soil.

Answer: B

Watch Video Solution

28. A plant requires magnesium for :

A. Cell wall development

B. Holding cells together

C. Protein synthesis

D. Chlorophyll synthesis

https://dl.doubtnut.com/l/_n5jHOjubvYCg
https://dl.doubtnut.com/l/_gdRrv9e6i33h


Answer: D

Watch Video Solution

29. About 98 percent of the mass of every living organism is

composed of just six elements including carbon, hydrogen,

nitrogen, oxygen and

A. Calcium and phosphorous

B. Phosphorus and sulphur

C. Sulphur and magnesium

D. Magnesium and sodium

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gdRrv9e6i33h
https://dl.doubtnut.com/l/_2pYn64vZc7bk


30. Sulphur is an important nutrient for optimum growth

and productivity in

A. Pulse crops

B. Cereals

C. Fibre crops

D. Oil seed crops

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2pYn64vZc7bk
https://dl.doubtnut.com/l/_1ajyi8IXWLoJ


31. The deficiencies of micronutrients not only affects

growth of plants, but also vital functions such as

photosynthetic and mitochondrial electron flow. Among the

list given below, which group of three elements shall affect

the most, both photosynthetic and mitochondrial electron

transport ?

A. Cu, Mn, Fe

B. Co, Ni, Mo

C. Mn, Co, Ca

D. Ca, X, Na

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5GPxsDgsdwtA


32. Which of the following elements is a constituent of

biotin

A. Sulphur

B. Magnesium

C. Calcium

D. Phosphorus

Answer: A

Watch Video Solution

33. Which one of the following elements is almost non -

essential for plants ?

https://dl.doubtnut.com/l/_QKKOJQTRzRam
https://dl.doubtnut.com/l/_AApQ8fpKTk1r


A. Zn

B. Na

C. Ca

D. Mo

Answer: B

Watch Video Solution

34. plants take zinc in form of :

A. 

B. 

C. ZnO

ZnSO4

Zn2 +

https://dl.doubtnut.com/l/_AApQ8fpKTk1r
https://dl.doubtnut.com/l/_MEsoy1nHYo9l


D. Zn

Answer: B

Watch Video Solution

35. Element necessary for the middle lamella

A. Ca

B. Zn

C. K

D. Cu

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MEsoy1nHYo9l
https://dl.doubtnut.com/l/_KqyNiaGkWzPb


36. Boron in green plants assists in

A. Activation of enzymes

B. Acting as enzymes co - factor

C. Photosynthesis

D. Sugar transport

Answer: D

Watch Video Solution

37. The most abundant element present in the plants is 

Or 

Which of the following is not absorbed through soil

https://dl.doubtnut.com/l/_KqyNiaGkWzPb
https://dl.doubtnut.com/l/_E1yb1CpZX7QA
https://dl.doubtnut.com/l/_vEw8ea9UvEjJ


A. Carbon

B. Nitrogen

C. Manganese

D. Iron

Answer: A

Watch Video Solution

38. Necrosis, or death of tissue particularly leaf tissue, is

due to the deficiency of

A. Ca, K, S and Mo

B. N, K, S and Mo

C. N, S, Fe and Zn

https://dl.doubtnut.com/l/_vEw8ea9UvEjJ
https://dl.doubtnut.com/l/_G2BmWZiMAmZa


D. Mg, S, Mn and Ca

Answer: A

Watch Video Solution

39. Which of the following is not caused by deficiency of

mineral nutrition

A. Etiolation

B. Shortening of internode

C. Necrosis

D. Chlorosis

Answer: A

https://dl.doubtnut.com/l/_G2BmWZiMAmZa
https://dl.doubtnut.com/l/_X8CvM1mh36Ts


Watch Video Solution

40. When the plants are grown in magnesium deficient but

urea rich soil, the symptoms expressed are:

A. Yellowish leaves

B. Colourless petiole

C. Dark green leaves

D. Shoot apex die

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_X8CvM1mh36Ts
https://dl.doubtnut.com/l/_z7Gq8yHiAiiq


41. The major portion of the dry weight of plants comprised

of

A. Nitrogen, phosphorus and potassium

B. Calcium, magnesium and sulphur

C. Carbon, nitrogen and hydrogen

D. Carbon, hydrogen and oxygen

Answer: D

Watch Video Solution

42. Gray spots of oat are caused by the deficiency of

A. Cu - Fe protein

https://dl.doubtnut.com/l/_gpYrGeWFQMaq
https://dl.doubtnut.com/l/_PrTHj3WKAUTB


B. Zn

C. 

D. Fe

Answer: C

Watch Video Solution

Mn−

43. Study the cycle shown in Fig. 12.7 and select the option

which gives correct words for all the four blanks A, B, C, and

https://dl.doubtnut.com/l/_PrTHj3WKAUTB
https://dl.doubtnut.com/l/_piRo6sciyqLc


D. 

A. A - Nitrification B - Ammonification C - Animals

B. A - Denitrification B - Ammonification C - Plants D -

Animals

https://dl.doubtnut.com/l/_piRo6sciyqLc


C. A - Nitrification B - Denititrification C - Animals D -

Plants

D. A - Denitrification B - Nitrification C - Plants D -

Animals

Answer: B

Watch Video Solution

44. Which two distinct microbial processes are responsible

for the release of fixed nitrogen as dinitrogen gas  to

the atmosphere

A. Anaerobic ammonium oxidation, and denitrification

B. Aerobic nitrate oxidation, and nitrite reduction

(N2)

https://dl.doubtnut.com/l/_piRo6sciyqLc
https://dl.doubtnut.com/l/_BbW6wSHomN2R


C. Decomposition of organic nitrogen , and conversion

of dinitrogen to ammonium compounds.

D. Enteric fermentation in cattle, and nitrogen fixation

by Rhizobium in root nodules of legumes

Answer: A

Watch Video Solution

45. Nitrifying bacteria:-

A. Reduce nitrates to free nitrogen

B. Oxidize ammonia to free nitrogen

C. Convert free nitrogen to nitrogen compounds

https://dl.doubtnut.com/l/_BbW6wSHomN2R
https://dl.doubtnut.com/l/_O20oAoa8KVoP


D. Convert proteins into ammonia

Answer: B

Watch Video Solution

46. Passive obsorption of minerals depends on

A. Temperature

B. Temperature and metabolic inhibitor

C. Metabolic inhibtor

D. Auxin

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_O20oAoa8KVoP
https://dl.doubtnut.com/l/_WTzG1d14ua7T


47. In root nodules of lengumes, leg-haemoglobin is

important because

A. Transports oxygen to the root nodule

B. Acts as an oxygen scavenger

C. Provides energy to the nitrogen fixing bacterium

D. Acts as a catalyst in transamination

Answer: B

Watch Video Solution

48. Leghemoglobin is

https://dl.doubtnut.com/l/_WTzG1d14ua7T
https://dl.doubtnut.com/l/_o07oYoyF5gV1
https://dl.doubtnut.com/l/_s1ds9EAZuWt9


A. An oxygen carrier in human blood

B. A protein used as food supplement

C. An oxygen scavenger in root nudules

D. A plant protein with high lysine content

Answer: C

Watch Video Solution

49. Which one of the following statements is correct ?

A. Legumes fix nitrogen only through the specialized

bacteria that live in their roots

https://dl.doubtnut.com/l/_s1ds9EAZuWt9
https://dl.doubtnut.com/l/_KFNS19snlFUo


B. Legumes fix nitrogen independently of the specialized

bacteria that live in their roots

C. Legumes fix nitrogen only through specilized bacteria

that live in their leaves

D. Legumes are incapable of fixing nitrogen

Answer: A

Watch Video Solution

50. Enzyme first used for nitrogen fixation

A. Nitrogenase

B. Nitroreductase

https://dl.doubtnut.com/l/_KFNS19snlFUo
https://dl.doubtnut.com/l/_W7SbFvkjwW5B


C. Transferase

D. Transaminase

Answer: A

Watch Video Solution

51. Which one of the following elements plays an important

role in biological nitrogen fixation 

or 

Browning of cauliflower takes due to deficiency of which

one of the following elements

A. Copper

B. Manganese

https://dl.doubtnut.com/l/_W7SbFvkjwW5B
https://dl.doubtnut.com/l/_CUmgDiWg9MvX


C. Zinc

D. Molybdenum

Answer: D

Watch Video Solution

52. A free-living nitrogen-fixing cyanobacterium which can

also form symbiotic association with the water fern Azolla

is :

A. Tolypothrix

B. Chlorella

C. Nostoc

D. Anabaena

https://dl.doubtnut.com/l/_CUmgDiWg9MvX
https://dl.doubtnut.com/l/_mCvGLoMn1Puy


Answer: D

Watch Video Solution

53. If by radiation all nitrogenase enzyme are inactivated,

then there will be no:-

A. Fixation of nitrogen in legumes

B. Fixation of atmospheric nitrogen

C. Conversion from nitrate to nitrite in legumes

D. Conversion from ammonium to nitrate in soil

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mCvGLoMn1Puy
https://dl.doubtnut.com/l/_G8y6zOdIKGU4


Assignment Section D

54. Root of which plant contains a red pigment that has

affinity for oxygen ?

A. Carrot

B. Soyabean

C. Mustard

D. Radish

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jALE3oIb2p28


1. Assertion: Some mineral nutrients are essential. 

Reasoning: They can be synthesized by the plants.

A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vzPX3wHa20lt


2. Write the role of Phosphorous in plants

Watch Video Solution

3. A : Chelating agents used in improving availability of

some minerals in soil are actually electron acceptors. 

R : They increase solubility of some minerals in acidic soils.

A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

https://dl.doubtnut.com/l/_LZ7JxCU7RNkV
https://dl.doubtnut.com/l/_8aQvbWywSmAU


Answer: D

Watch Video Solution

4. Assertion: N, P, K are called critical elements. 

Reasoning: They become deficient easily in soil due to

leaching and higher requirement.

A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

https://dl.doubtnut.com/l/_8aQvbWywSmAU
https://dl.doubtnut.com/l/_ZbO2CqEzulKK


Answer: A

Watch Video Solution

5. A : Influx of ions into inner space of cells is an active

process. 

R : Ions are available for free exchange in free space.

A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

https://dl.doubtnut.com/l/_ZbO2CqEzulKK
https://dl.doubtnut.com/l/_ioX2wIayHXSA


Answer: B

Watch Video Solution

6. A : Maganese toxicity cause brown spots ,chlorotic veins

and inhibintion of calcium translocation to shoot apex. 

R : Toxic effects may be due to direct excess of

micronutrients or its interference in the absorbtion and

functioning of other nutrients.

A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

https://dl.doubtnut.com/l/_ioX2wIayHXSA
https://dl.doubtnut.com/l/_zElBdl9H7qBC


C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

Answer: A

Watch Video Solution

7. A : Jar for nutrient solution culture contains a split cover

with holes which hold a bent tube for aeration. 

R : Regular aeration of culture solution is necesaary for

proper growth and activities of roots.

A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

https://dl.doubtnut.com/l/_zElBdl9H7qBC
https://dl.doubtnut.com/l/_JJZZgZGC9I2i


B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

Answer: A

Watch Video Solution

8. A : All the diverse minerals element found in plants are

not essential for them. 

R : Some plants accumulate heavy and toxic minerals such

as gold and selenium from the soil.

https://dl.doubtnut.com/l/_JJZZgZGC9I2i
https://dl.doubtnut.com/l/_krLRJl7kyxhp


A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

Answer: B

Watch Video Solution

9. A : Ammonia is oxidised first to nitrate then to nitrite by

the action of Nitrosomonas and Nitrobacter respectively. 

R : Nitrite thus formed is absorbed by leaves.

https://dl.doubtnut.com/l/_krLRJl7kyxhp
https://dl.doubtnut.com/l/_TuX7TWeF5yFB


A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

Answer: D

Watch Video Solution

10. A : Soyabean export the fixed nitrogen as ureides. 

R : Amides contain excess nitrogen and they are

transported via phloem sieve tubes.

https://dl.doubtnut.com/l/_TuX7TWeF5yFB
https://dl.doubtnut.com/l/_Hq9kWJSuR2ab


A. If both Assertion & Reason are true and the reason is

the correct explanation of the assertion.

B. If both Assertion & Reason are true but the reason is

not the correct explanation of the assertion.

C. If Assertion is true statement but Reason is false.

D. If both Assertion and Reason are false statements.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Hq9kWJSuR2ab

